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1. Find the general solution of X' = (_02 i)X (20%)

2. Find the general solution of V' =3y + 2y = xe2x (20%)

3. Find the solution of the system by using Laplace Transform (20

ORI r0 oo

4. Verify Gauss theorem: given a vector field

F=xf+yj+z§

and region M bounded by the hemisphere x* + 3 + 22 =1 z >0

%)

(20%)

Hint: calculate each side of Gauss theorem, respectively, and show that

both results are identical.

3. Use Fourier Transform to solve the equation:
o'y _&%y

=5 (-0 <x <o, 1 20) with the given conditions
ort o’

7(%,0) = 4[H({ - 2) - H(t -10)], and %(x, 0).=0 (20%)




